Part1
Select the best answer from the choices provided. (Each question is worth one point)

Which method for determining the product of two binomials uses the process of first times first, outer times outer, inner times inner, and last
times last?

() column form () multiplicative inverse
# FOIL () vertical method

Which is an example of using the column form to find the product of two binomials?

) FOIL @ 2(4t +2)
Q m*3 O (5m+3)(4m—3)

X4m -

Which of the following is an acronym used to remember the steps needed to multiply two binomials?
() BOOK ® FOIL

() POLY () column method

¢2 is equal to which of the following?

Oc QO 2c
® (0@ O c+e
(p + 1)21is equal to which of the following?
O b+1)b-1) ® b+1)b+1)
O p2+1 O p2-1
Which of the following expressions is the square of a sum?
O (h+3)2 O (h-372
O (h+3)(h-3) O (h-3)(h+3)
The square of the first term of the binomial plus twice the product of the two terms plus the square of the last term is known as which formula?
() column method () binomial formula
® square of a sum () sum and difference of binomials

Using the square of a sum rule, which of the following expressions is the product of (2n + 1)2?

i -

O on2+n+1 O on2+4n+2

~

O 4n?+4n+2 ® sn2+4n+1
The product of the sum and difference of two terms is the difference of

() middle terms () lastterms

0y

() first terms @ squares



Select the best answer from the choices provided. (Each question is worth one point)

Simplify:
4n(2n + 2)
O 8n2+2n ® 8n2+8n
O 4n2+8n O 8n+8n
Simplify:
8c2(p2 - 2¢)
O b2c2-16¢3 O 8b%c-16¢3
® 8p2c2 - 16¢3 O 8b2¢2—16¢2
Find the product:
(6t + 4)(-5t — 10)
O 30t2-8ot- 40 ® _30t2-8ot-40
O 3012 +80t-40 O -30t2 - 80t + 40
Find the product:
(m+1)(-7m-5)
® om2-12m-5 O 7m2-12m-5
O 7m2-12m+5 O om2+12m-5
Find the product:
(4b-9)(7b-6)
) 28b2+87b+54 () 28b-87b+54
® 28p2-87b+ O 28b2-87b-
70 + 54 70 -54
Find the product:
4V -6
X4qu+3
O 1602 +12v-18 O 16v2-12v-18
O 1602 -24v-18 O 1602 —12v +18
Find the product:
51 +10
xon+4
O 10n2 +20n + 40 O 10n2+10n +40
e 2 O 2
) 10n%2+40n+4 [ 10n2+40n + 40
Find the product:
(6 +4n)2
O 36k2 + 12kn + 16n2 O 36k2 + 10kn + 16n2
® 36k2 + 48kn + 16n2 O 36k2 + 24kn + 16n2
Find the product:
(3ab —30)2
O 9a2b2 - 18abe - 92 O 9a2h? - 9abe + 9c?
) 9a2b - 18¢ + 9abc? ® 9a2b? - 18abc + 9c?

Part3
Select the best answer from the choices provided. (Each question is worth one point)

v2 + 2y + 1 s the product of which two binomials?
® w+1)2 O w+D)w-1)

O w-11-v) O @w-1)-1)

12 — 4¢ + 4 is the product of which algebraic expression?
O t-2? O -2

O (t-2)(t+2) O t-4)(t+4)

Evaluate (¢ + 1)0 when o = 1.

&
O 2 O 4
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Do ® 1
Simplify:
(-93 - 5)2
0 81b° — 9ob3 + 25 ) 81b° — gob3 - 25
) 81b° — gob3 - 25 ® 81b° + 9ob3 + 25
art 4
pe the answer to the question in the textbox below each item. (Each question is worth two points)
Simplify 203.
cant be simplified but
7X209=203

A

The product of the sum and difference of the same two terms is equal to what?

difference of squares

What is the exponent of the monomial n5?
5







